Katsgnatoy

INDEX Part Number
Adaptors For Mounting . .
Smaller Valve on Larger Valve Station Aluminum Ductile/Steel
83 [ NFPA DO3 Valve on NFPA DO5 Station VA-A03/05-_BA-0 VA-S03/05-_BA-0
84 [ NFPA DO5 Valve on NFPA D08 Station VA-A05/08-_BA-0 VA-S05/08-_BA-0
85 [ NFPA 2F06 Valve on NFPA 2F07 Station VA-AF6 /F7-_AA-O VA-SF6 /F7-_AA-O
86 | NFPA P-08 Valve on NFPA P-10 Station VA-AP8/PO-_AA-0 VA-SP8/P0O-_AA-O

MAGNALOY VALVE ADAPTOR PART NUMBER BREAKDOWN

*VA-AO0S5/08-EBA-0
Product Code 4, T— Design Series

VA - Valve Adaptor

Valve - Manifold Port Orientation Code
Material Code AA - A, common to A,,, B, common to B,
A - Aluminum BA - B, common to A, A, common to B,

S - Ductile/Steel

Valve Mounting Thread Code

Valve Pattern Code ————— E - English
03 - D03 M - Metric
o ) Dos Manifold Pattern Code
08 - D08
05 - D05
F6 - 2F06
P8 - P08 08 - D08
F7 - 2F07
PO - P10

* See following Valve Adaptor Pages for specific Magnaloy standard configurations with options.

82 magnaloy coupling company 501 Commerce Drive Alpena, MI 49707 989 356-2186

A Division of Douville Johnston Corporation Fax: 989 354-4190 http:/ /www.magnaloy.com



rniagngloy

Directional Valve Pattern |
Valve Adaptor - DO3 to DO5
Standard NFPA
D03 Pattern

Application:

Adapts valve with NFPA DO3 pattern to NFPA
DO5 pattern with either all ports common
(AA) or the D03 "A" & "B" ports reversed to
connect to the D05 "A" & "B" ports (BA)

Standard NFPA

\‘ DOS5 Pattern

Supplied Hardware Part Numbers:
Mounting Bolts — (4) M6-1.0 x 38mm S.H.C.S. (M - Mtg.Code) Aluminum Ductile/Steel
Mounting Bolts — (4) 1/4-20 x 11/2" S.H.C.S. (E - Mtg.Code) VA-A03/05-_BA-0 [ VA-S03/05-_BA-0
O-Rings — Viton (5) 5/8" OD x 1/2" ID x 1/16" CS VA-A03/05-_AA-0 | VA-S03/05-_AA-0

9/32" Dia Thru
13/32" C'bore x .31" Deep
(4) Places

— 1.47" — = 2.75" =
(87.3) (69.9)

, TK
O

e °, O
1 1
Q Q A Pocket for
5/8" O.D. O’'Ring
(5) Places
PRQO OT1K So2)
- O
O O O O

O»
O

L@

MAGNALOY VALVE ADAPTOR PART NUMBER BREAKDOWN

VA-A03/05-EBA-0
Product Code 4, T—

VA - Valve Adaptor

Design Series

Valve - Manifold Port Orientation Code
Material Code AA - A, common to A,,, B, common to B,
A - Aluminum BA - B, common to A,,,, A, common to B,

S - Ductile/Steel Valve Mounting Thread Code

E - English
Valve Pattern Code ————— :
03 - D03 M - Metric
Manifold Pattern Code
05 - D05

magnaloy coupling company 501 Commerce Drive Alpena, MI 49707 989 356-2186 83

A Division of Douville Johnston Corporation Fax: 989 354-4190 http:/ /www.magnaloy.com



o g -2} @ Directional Valve Pattern
@gh !GE - y Valve Adaptor - DO5 to DO8

Standard NFPA
D05 Pattern

Application:

Adapts valve with NFPA DO5
pattern to NFPA DO8 pattemn.

1.44"

\r

6.00" \
\\[ Standard NFPA
Supplied Hardware D08 Pattern
Mounting Bolts — (6) M12-1.75 x 38mm S.H.C.S. (M - Mtg.Code)
Mounting Bolts — (6) 1/2-13 x 11/2" S.H.C.S. (E - Mtg.Code) Part Numbers:
O-Rings — Viton (3) 3/4" OD x 1/2" ID Alomi Ductil |
O-Rings — Viton (4) 15/16" OD x 11/16" ID uminum uctile/Stee
Locating Pin — (2) 1/4" x 1/2" Roll Pin VA-A05/08-_AA-0 | VA-S05/08-_AA-0
33/64" Dia Thru
25/32" C'bore x 1.06" Deep
(6) Places —— 144" e - 4.50" -
(36.6) (114.3)
=\ [
O O O O
© © 1 O‘\ Pocket for
O 3/4" 0.D. O'Ring
O @ O (2) Places
O 6.00"
O (154.4 T Pocket for
@ o Os O 15/16" 0.D. O'Ring

(4) Places
o~ ®
© @ Lo O o

\— Locating Pin

(2) Places

MAGNALOY VALVE ADAPTOR PART NUMBER BREAKDOWN

VA-AO5/08-EAA-0
Product Code 4, T— Design Series

VA - Valve Adaptor

®

O

Valve - Manifold Port Orientation Code
AA - A, common to A,,, B, common to B,

Material Code

A - Aluminum
S - Ductile/Steel Valve Mounting Thread Code
E - English
Valve Pattern Code ———— M - Metric
05 - D05 Manifold Pattern Code
08 - D08

magnaloy coupling company 507 Commerce Drive Alpena, MI 49707 989 356-2186
I

A Division of Douville Johnston Corporation Fax: 989 354-4190 http:/ /www.magnaloy.com




Standard NFPA
2F06 Pattern

Application:
Adapts valve with NFPA 2F06 g
pattern to NFPA 2F07 pattern. * /
\
1.22"

Supplied Hardware ‘
Mounting Bolts — (4) M10-1.5 x 32mm S.H.C.S. (M - Mtg.Code) \\‘ Standard NFPA
Mounting Bolts — (4) 3/8-16 x 11/4" S.H.C.S. (E - Mtg.Code) 2F07 Pattern
O-Rings — Viton (1) 11/2" OD x 11/4" ID x 1/8" CS

O-Rings — Viton (1) 13/4" OD x 11/2" ID x 1/8" CS Part Numbers:

. i 1/4" Di 1/on :
Locating Pin — (1) 1/4" Dia. x 1/2" Roll Pin Aluminom Ductile/SteeI

S/16-18 Thd x 63" Desp VA-AF6 /F7-_AA-O | VA-SF6 /F7-_AA-O

(4) Places 13/32" Dia Thru _
21/32" C'bore x .41" Deep LO%atlng
| | (4) Places in
/ [
- + ! ¥+ - O O
© ©
© o
4.75"
O " — Pocket for
(i12) nzor 112" 0.D. O'Ring
- | — Pocket for
@ 13/4" 0.D. O'Ring
_@> © ~’<_§ff+ -—j— O O
|

R

3g—=| |=— (96) 475t

(9.6) (120.7)

—=] 88" |=— —| 122" |-
(22.3) (31.0)
4.38"

MAGNALOY VALVE ADAPTOR PART NUMBER BREAKDOWN
VA-AF6/F7-EAA-0

Product Code 4, T— Design Series
VA - Valve Adaptor
Valve - Manifold Port Orientation Code
Material Code AA - A, common to A, B, common to B,
A - Aluminum
S - Ductile/Steel Valve Mounting Thread Code
E - English
Valve Pattern Code ——————— M - Metric
F6 - 2F06 )
Manifold Pattern Code
F7 - 2F07

magnaloy coupling company 501 Commerce Drive Alpena, MI 49707 989 356-2186 8

A Division of Douville Johnston Corporation Fax: 989 354-4190 http:/ /www.magnaloy.com




Esogngloy

Application:

Adapts a 3/4" pressure control valve
(NFPA P08) to a 11/4" pressure control
valve pattern (P10).

Note:
This adaptor is for use with internally
drained valves. A passage is
provided for external pilot pressure.

Supplied Hardware

Mounting Bolts — (4) M10-1.5 x 32mm S.H.C.S. (M - Mtg.Code)
Mounting Bolts — (4) 3/8-16 x 11/4" S.H.C.S. (E - Mtg.Code)
O-Rings — Viton (2) 7/16" OD x 5/16" ID x 1/16" CS

O-Rings — Viton (2) 15/8" OD x 13/8" ID x 1/8" CS

Locating Pin — 1/4" Dia. x 1/2" Roll Pin

Pressure Control Valve Pattern

Valve Adaptor - PO8 to P10

Standard NFPA
P08 Pattern

Standard NFPA
P10 Pattern

Part Numbers:

Aluminum
VA-AP8/PO-_AA-O

Ductile/Steel
VA-SP8/PO-_AA-O

3/8-16 Thd Thru — 81 == . —| 97" |=— 4.00"
(4) Places / (20.6) 17(8'6) (24.6 (101.6)
| | i
i S __ 69" |
+(A) ﬂP_\ng» iz O(O) -)O
N Pocket for
? _—"15/8" O.D. O’Ring
4.16" 4.50" (2) Places
O O (105.7) (114.3)
0 ~ - @ -
O O Q \ o O Q
1© o o

| \
- 13/32" Dia Thru

21/32" C'bore x .41" Deep
(4) Places

\ O
Locating Pin

\ Pocket for

7/16" 0.D. O’'Ring
(2) Places

MAGNALOY VALVE ADAPTOR PART NUMBER BREAKDOWN

VA-AP8/PO-EAA-O
Product Code 4, T—

VA - Valve Adaptor

Material Code
A - Aluminum
S - Ductile/Steel

Valve Pattern Code
P8 - P08

A Division of Douville Johnston Corporation

Design Series

Valve - Manifold Port Orientation Code
AA - A, common to A,,, B, common to B,

Valve Mounting Thread Code
E - English
M - Metric

Manifold Pattern Code
PO - P10

magnaloy coupling company 507 Commerce Drive Alpena, MI 49707 989 356-2186

Fax: 989 354-4190

http:/ /www.magnaloy.com




